Самостоятельная работа

Вариант 1

№1. Вычисли:

а) 12,34 + 15,56;           д) 389,3 + 0,389;
б) 71,8-35,7;                 е) 19-7,809;
в) 2,623+ 0,4;                ж) 4,1 + 5,4231;
г) 38,54 - 3,854;            з) 17,0246 - 6,98.

№2. Вырази в килограммах и найди значение выражения: 

5 кг 400 г - 3 кг 60 г + 457 г - 1 кг 97 г + 7 г.

№3. Вычисли наиболее удобным способом:

а) (8,914+ 5,07)-7,914;                                                                                                                                                                                                                         б) 11,395-(7,395 + 1,15).

Самостоятельная работа

Вариант 2                                                                                                                                                                                                                                                                                                                                                                                                                                                                      

№1. Вычисли:

а) 14,36-7,56;                 д) 46-9,815;                                                                                                                                                                                                                                                                                                                                         б) 2,9 + 8,3;                   е) 40,36 + 8,741;                                                                                                                            
в) 32,5-4,931;               ж) 2,4-0,37816;
г) 0,7+18,38;                з) 15,0919 + 3,01.
№2. Вырази в килограммах и найди значение выражения: 

7 кг 90 г + 1 кг 300 г - 2 кг 75 г + 326 г - 8 г.

№3. Вычисли наиболее удобным способом:

а) 3,246- (0,45+ 2,246);                                                                                                                                                                                                                          б) (3,03 + 9,214)-1,03.   
